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Merit exemplar for 91381, 2015 Total score: 18 

Q 
Grade 
score 

Annotation 

1 8 

In part (a) the candidate fully explains the first cause, but only explains the 
second. The candidate has fully explained the effect on Weka TV and investor 

stakeholders in relation to the case study. 

In part (b) the candidate has made a good attempt to fully explain, with further 

clarification in their conclusion. They then offer new information by discussing 
the rapid change in technology when comparing and contrasting the two 

options. 

2 5 

In part (a) the cause is only explained and does not discuss how this will 
impact (i.e. “which has led to increase wait times and dissatisfied customers”).  

The first effect has already occurred according to the resource, so is not going 

to be a likely future impact, but some credit has been given for its recognition.  

The second effect (on Weka TV customers) is fully explained. 

In part (b) two good solutions are provided, and the positive effects are fully 
explained in part (c) by discussing the future impact on Weka TV. This is only 

fully completed in the conclusion by discussing quality control for Option 1 and 

level of training for Option 2. Holistically, this answer is a low Merit based on 

answers in both parts of the question, due to the use of business theory. It is 
let down by sentence and paragraph structure and not fully explaining ideas in 

all areas. 

3 3 

In part (a) the two causes are fully explained, discussing how delivery costs 
have risen. The first effect is poorly worded and should have referred to 

decreased profitability, but the idea is correct. The second effect is not 

relevant, as once customers receive their set-top box, delivery times are no 

longer an issue. It should have referred to potential future customers. 

In part (b) the first solution is not discussed in the context of delivery times and 
costs. The lease price is irrelevant in their discussion. The second solution is 

appropriately explained. In their conclusion they have made reference to the 

positives of Option 2 (available immediately, large warehousing for imports), 

which has been used as evidence to award a lower Achieved grade. 
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